
qm= ;+= of]hgfsf] gfd :yfg &]ufgf ljlgof]hg /sd ?= s}lkmot
1 ;dk'/s sf]if k|b]z ÷;+# 27,000,000.00      
s
1 s[lif ljsf; sfo{qmd 2500000.00
2 kz' ljsf; sfo{qmd 1500000.00
3 ;xsf/L If]q 300000.00
4 ko{6g k|a{{wg tyf ljsf; sfo{qmd 500000.00
5 o'jf :j/f]huf/ 500000.00

hDdf 5,300,000.00       
v
! lzIff ljsf; sfo{qmd 2354567.00
@ rGb| df=lj= ef}lts k'jf{wf/ ljsf; 2000000.00
# :jf:Yo sfo{qmd 3000000.00
$ vfg]kfgL kfO{k vl/b 500000.00
% vfg]kfgL lnˆ6LË dxz'n cg'bfg 800000.00
^ vfg]kfgL lnˆ6LË df]6/ vl/b cg'bfg ^)÷$) 500000.00
& afnd}qL cleofg sfo{qmd 10000000.00
* cf]d zfGtL k|jr{g sfo{qmd 200000.00
( cfo'j]{b :jf:Yo tkm{ 200000.00

!) dlxnf ljsf; sfo{qmd 300000.00
!! dlxnf Ifdtf ljsf; tyf ;–zlQm sfo{qmd 500000.00
!@ cflbjf;L hghftL sfo{qmd 400000.00
!# blnt nlIft sfo{qmd 300000.00
!$ ckfË nlIft sfo{qmd 200000.00
!% h]i7 gful/s sfo{qmd 100000.00
!^ s'dfn hftL pTyfg sfo{qmd - l;dfGs[t ju{_ 100000.00
!& af]6]hftL pTyfg sfo{qmd  - l;dfGs[t ju{_ 100000.00

!* o'jf tyf v]ns'b sfo{qmd 400000.00
!( ;flxTo snf tyf ;+:s[lt k|a{{wg 200000.00

22,154,567.00      
u
! ljleGg cfof]hgfsf] l8= lk cf/ 1000000.00
@ km'; 5fgf] /lxt 3/ cleofg -ss{6 kftf vl/b_ 3900000.00
# cw'/f] Nof08lkm6 ;fO{8 lgdf{0f cfo{e~HofË 500000.00
$ gfo/ :jf:Yo rf}sLdf tflnd ejg lgdf{0f 800000.00
% vfgL5fk j8f ejg lgdf{0f 1500000.00
^ ljB'lts/0f 1000000.00
& ;8s dd{t ;Def/ 1500000.00
* ;f}o{ phf{ h8fg 1500000.00

augf;sfnL ufp“kflnsf :t/Lo of]hgf tyf sfo{qmd cf=a= 2 )&^÷)&&

cfly{s ljsf; If]q tk{m M

;fdflhs ljsf; If]q tk{m M

k"jf{wf/ ljsf; If]q tk{m M



( dd{t ;+Def/ sf]if -cGo_ 500000.00
hDdf 12,200,000.00      

3 jg , jftfj/0f tyf ljkb\ Joj:yfkg 

! ljkb\ Joj:yfkg sf]if 1000000.00
@ k'0f{ ;/;kmfO{ sfo{qmd 500000.00
# afb/ Joj:yfkg sfo{qmd 500000.00
$ ;fd'bflos jg tyf jftfj/0f sfo{qmd - jg 

pkef]Qmf dxf;+3_ 100000.00
hDdf 2,100,000.00        

ª
1 ;fj{hlgs ;'g'jfO{ ÷;fdflhs kl/If)f 200000.00
2 Goflos ;ldlt Ifdtf ljsf; 400000.00
3 pkef]Qmf ;ldlt tflnd sfo{qmd 400000.00
4 ;~rf/ sdL{ Ifdtf ljsf; 300000.00
5 kmlg{r/ tyf lkmSr/ vl/b 1200000.00
6 d]l;g/L cf}hf/ vl/b 1000000.00
7 ;jf/L ;fwg vl/b 800000.00
8 OG6/g]6 Aofsk O{Ge6/ vl/b 453000.00
9 hgk|ltlglwsf] cWoog cjnf]sg e|d0f 500000.00

hDdf 5253000.00

s"n hDdf 74,007,567.00     

!
@
#

;+:yfut ljsf; tyf ;]jf k|jfx / ;'zf;g If]q tk{m M

cf=a= )&^÷)&& df % gDa/ k|b]z ;/sf/ cfly{s dfldnf tyf of]hgf dGqfnoaf6 k|fKt ;dk'/s cg'bfg 
?= ! s/f]8 %) nfv o; ufp“kflnsfsf] ;dk'/s sf]ifaf6 ?=! s/f]8 %) nfv ;fem]bf/L u/L b]xfo 
adf]lhdsf of]hgfx? to ul/Psf] 

rf}kf/L – cfo{e~hf• – b]p/fnL – augf;]– lkKn] bds8f– cf?vs{– hDbf/gL8f“8f df]=af=
6f]S;]–nfDbL–db|f; df]6/ af6f] :t/f]GgtL
b?‚f–bn{dsfnL k;n x'b} ;'kf/] ;Dd df]6/ af6f] :Q/f]GgtL 


